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Direction (1-3) :Number of male and female

members in different organizations A, B, C, D

and E are given in the bar graph.

fuEu ckj xzkiQ esa A, B, C, D vkSj E fofHkUu laxBuksa
esa iq:"k vkSj efgyk lnL;ksa dh la[;k nh xbZ gSA

1. What is the ratio of average number of

females in all the five organizations to the

average number of males in all the five

organizations?

lHkh ikap laxBuksa eas efgykvksa dh vkSlr la[;k dh
lHkh ikap laxBuksa eas iq:"kksa dh vkSlr la[;k dk vuqikr
Kkr djsaA

SSC CGL 2020

(a) 49 : 51

(b) 46 : 49

(c) 49 : 46

(d) 51 : 49

2. For which organisation, difference between

the number of males and the average

number of females of all the organisation

is minimum?

fdl laLFkku eas iq:"kksa dh la[;k vkSj lHkh laLFkkuksa esa
efgykvksa dh vkSlr la[;k ds chp varj U;wure gS\

SSC CGL 2020

(a) C (b) B

(c) D (d) A

3. What is the ratio of number of males

working in organizations C, D and E taken

together to that of females working in

organizations A, B and C taken together?

laxBuksa C, D vkSj E eas dk;Zjr iq:"kksa dh dqy la[;k
vkSj laxBuksa A, B vkSj C esa dk;Zjr efgykvksa dh
dqy la[;k ds chp vuqikr Kkr djsaA

SSC CGL 2020

(a) 11 : 10 (b) 10 : 11

(c) 46 : 49 (d) 49 : 46

4. The given bar graph shows the imports and

exports (in crore Rs.) of streel for 5 years

from 2014 to 2018.

fn, x;k naM vkjs[k 2014 ls 2018 rd 5 o"kZ esa
bLikr dk vk;kr vkSj fu;kZr (djksM+ esa) n'kkZrk gSA

What is the ratio of average export to

average import over the five years?

ikap o"kkZsa esa vkSlr fu;kZr vkSj vkSlr vk;kr dk vuqikr
Kkr djsaA

SSC CGL 2020

(a) 109 : 247

(b) 218 : 247

(c) 247 : 109

(d) 247 : 218

Direction (5-6) : Cough syrup of three different

flavors - A, B and C (in lakh bottles)

manufactured by a medicine company over a

period of five years from 2010 to 2014 has been

shown in the bar graph.

DATA INTERPRETATION
(BAR GRAPH)
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ckj xzkiQ esa 2010 ls 2014 rd ikap o"kZ dh vof/ esa
fdlh nok daiuh }kjk fufeZr A, B vkSj C rhu fHkUu &fHkUu
Loknksa ds diQ fljiQ dh ek=kk (yk[k ckssry esa) n'kkZbZ xbZ gSA

5. The ratio of the average production of all

flavors in 2012 to the difference of the

average production of flower A in 2012,

2013 and 2014 and the average production

of flavor C in 2012, 2013 and 2014 is :

2012 esa lHkh Loknksa ds vkSlr mRiknu dk 2012] 2013
vkSj 2014 esa Lokn A ds vkSlr mRiknu vkSj 2012]
2013 vkSj 2014 esa Lokn C ds vkSlr mRiknu ds
varj ls vuqikr Kkr djsaA

SSC CGL 2020

(a) 26 : 15

(b) 15 : 26

(c) 11 : 3

(d) 3 : 11

6. Production of flavor A in 2012 is what

percent less than the average production

of flavor B in all the years (correct to 2

decimal places)?

2012 ls Lokn A dk mRiknu lHkh o"kksZa esa Lokn (Ýysoj)
B ds vkSlr mRiknu ls fdruk izfr'kr de gS\
(n'keyo) ds nks LFkkuksa rd lgh

SSC CGL 2020

(a) 3.87 (b) 6.98

(c) 5.66 (d) 4.66

Direction (7- 9): The bar graph shows the number

of students enrolled for a science course in

institutes A and B during 5 years from 2014 to

2018.

fuEu ckj xzkiQ 2014 ls 2018 rd 5 o"kZ ds nkSjku A
vkSj B laLFkkuksa esa foKku ikB~;Øe ds fy, ukekafdr Nk=kksa
dh la[;k dks n'kkZrk gSA

7. What is the ratio of the total numbers of

students enrolled in institutes B in 2015

and 2017 to that of students enrolled in

institute A in 2014 and 2016?

2015 vkSj 2017 esa laLFkku B esa ukekafdr Nk=kksa dh
dqy la[;k vkSj 2014 vkSj 2016 esa laLFkku A esa
ukekafdr Nk=kksa dh dqy la[;k dk vuqikr Kkr djsaA

SSC CGL 2020

(a) 92 : 137

(b) 91 : 111

(c) 111 : 81

(d) 137 : 92

8. The total number of students enrolled in

institute B during 2014, 2016 and 2018 is

what percent of the total number of

students enrolled in institute A during the

five Years?

2014] 2016 vkSj 2018 ds nkSjku laLFkku B esa ukekafdr
Nk=kksa dh dqy la[;k] ikap o"kksZa ds nkSjku laLFkku A esa
ukekafdr Nk=kksa dh dqy la[;k dk fdruk izfr'kr gS\

SSC CGL 2020

(a) 49%

(b) 66%

(c) 57%

(d) 55%

9. The average number of students enrolled

in institute A during 2014, 2016 and 2018

is what percent less than the number of

students enrolled in institute B during

2017 (correct to two decimal places)?

2014] 2016 vkSj 2018 ds nkSjku laLFkku A esa ukekafdr
Nk=kksa dh vkSlr la[;k 2017 ds nkSjku laLFkku B esa
ukekafdr Nk=kksa dh la[;k ls fdrus izfr'kr de (Bhd
nks n'keyo LFkku rd) gS\

SSC CGL 2020

(a) 22.46% (b) 29.17%

(c) 26.15% (d) 32.75%
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10. The following Bar Graphs represent the

Export of Tea (in lakh tonnes) by two

companies A and B during the years 2010

to 2015.

fuEu ckj xzkiQ] nks daifu;ksa A vkSj B }kjk o"kZ 2010
ls 2015 rd pk; ds fu;kZr dks (yk[k Vu esa) fu:fir
djrk gSA X- v{k o"kksZa dks fu:fir djrk gS vkSj Y-

v{k fu;kZr dh xbZ pk; dh ek=kk (yk[k Vu esa) dks
fu:fir djrk gSA

Study the chart and answer the question

written below:

pkVZ dk vè;;u djsa vkSj mlds ckn fn, x, iz'u
dk mÙkj nsaA

(Note : The data shown below is only for

mathematical exercise. They do not

represent the actual figures).

(uksV% fn;k x;k MsVk dsoy xf.krh; vH;kl ds fy,
gSA os daifu;ksa ds okLrfod vkadM+ksa dks fu:fir ugha
djrs gSA)

Export of Tea (in lakh tonnes) by two

companies A and B during 2010 to 2015

What is the ratio of the total exports of

company B in 2011 and 2014 to the total

exports of company A in 2012 and 2015?

2011 vkSj 2014 esa daiuh B ds dqy fu;kZr dk 2012
vkSj 2015 esa daiuh A ds dqy fu;kZr ls vuqikr Kkr djsaA

SSC CGL 2020

(a) 55 : 68

(b) 29 : 37

(c) 68 : 55

(d) 37 : 29

11. The following Bar Graph represents the

Production of Fertilizers by Company A and

Company B (in 10000 tonnes) Over the

Years from 2015 to 2010. The X-axis

represents the years, and the Y-axis

represents the Production of Fertilizers (in

10000 tonnes).

fuEukafdr ckj xzkiQ dk vè;;u djsa vkSj mlds ckn
fn, x, iz'u dk mÙkj nsaA\

ckj xzkiQ] daiuh A dks daiuh B }kjk 2005 ls 2010
rd moZjdksa ds mRiknu dks (10000 Vu esa fu:fir
djrk gSA X v{k o"kksZa dks fu:fir djrk gS vkSj Y

v{k moZjdksa ds mRiknu (10000 Vu eas) dks fu#fir
djrk gSA

(Note : The data shown below is only for

mathematical exercise. They do not

represent the actual figures of the

companies)

(uksV% fn;k x;k MsVk dsoy xf.krh; vH;kl ds fy, gSA os
daifu;ksa ds okLrfod vkadM+ksa dks fu:fir ugha djrs gSaA)

What is the average production (in 10000

tonnes) of fertilizer in 2008, 2009 and

2010 of Company A?

2008] 2009 vkSj 2010 esa] daiuh A ds moZjdksa dk
vkSlr mRiknu (10000 Vu esa) Kkr djsaA

SSC CGL 2020

(a) 590 (b) 600

(c) 620 (d) 570

12. The following bar graph shows the demand

and production (in Lakhs) of motor cycles

of five different companies A, B, C, D and

E in 2020.

fuEu ckj xzkiQ 2020 esa A, B, C, D vkSj E ikap
fofHkUu daifu;ksa dh eksVj lkbfdyksa dh ekax vkSj mRiknu
dks (yk[kksa esa) n'kkZrk gSA

https://t.me/mathsbyadityaranjan
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What is the ratio of total production of motor

cycles of companies A, B, C, D and E, to that

of the total demand of motor cycles of all

the companies during the five years?

daiuh A, B, C, D vkSj E ds eksVj lkbfdyksa ds dqy
mRiknu vkSj ikap o"kZ ds nkSjku lHkh daifu;ksa ds eksVj
lkbfdyksa dh dqy ekax dk vuqikr Kkr djsaA

SSC CGL 2020

(a) 50:53 (b) 53:50

(c) 60:61 (d) 61:60

13. The following bar graph shows the amount

(in Lakh Rs.) invested by a Company in

purchasing raw material over the years and

the values (in Lakh Rs.) of finished goods

sold by the Company over the years

fuEu ckj xzkiQ o"kksZa esa fdlh daiuh }kjk dPps eky dh
[kjhn esa fuosf'kr jkf'k (:i;s yk[k esa) vkSj o"kksZa esa
daiuh }kjk csps x, rS;kj eky ds ewY;ksa (:i;s yk[k esa)
dks n'kkZrk gSA

The ratio of total amount invested for

purchasing raw material from 2013 to 2015

to the total sales of finished goods in 2014,

2016 and 2017 is:

2013 ls 2015 rd dPps eky dh [kjhn ds fy,
fuosf'kr dqy jkf'k vkSj 2014] 2016 vkSj 2017 esa
rS;kj eky dh dqy fcØh dk vuqikr Kkr djsaA

SSC CGL 2020

(a) 56 : 27 (b) 64 : 37

(c) 37 : 64 (d) 27 : 56

14. The bar graph given below shows the sales

of Newspapers (in lakh number) from six

branches of a Media Publication Company

during two consecutive years 2017 and

2018.

uhps fn;k x;k ckj xzkiQ 2017 vkSj 2018 nks Øekxr
o"kZ ds nkSjku fdlh ehfM;k izdk'ku daiuh dh N%
'kk[kkvksa ls lekpkj i=kksa dh fcØh dks (yk[kksa dh
la[;k esa) n'kkZrk gSA (uksV % uhps n'kkZ;k x;k ;k MsVk
dsoy xf.krh; vH;kl ds fy, gSA os okLrfod vkadM+ksa
dks fu:fir ugha djrs gSa)

Sales of Newspapers (in thousand numbers)

from Six Branches - P, Q, R, S T and U of a

Media Publishing Company in 2017 and 2018

Total Sales of U for both the years is what

percent (correct to one place of decimal)

of the combined Sales of the branches Q

and R for 2017 and 2018?

nksuksa o"kZ esa 'kk[kk U dh dqy fcØh 2017 vkSj 2018
esa 'kk[kk Q vkSj R dh la;qDr fcØh dk fdruk izfr'kr
gS\ (Bhd ,d n'keyo LFkku rd)

SSC CGL 2020

(a) 41.0% (b) 48.6%

(c) 67.1% (d) 44.4%

Direction (15-17): Study the given graph and

answer the question that follows.

fuEukafdr xzkiQ dk vè;;u djsa vkSj mlds ckn fn,
x, iz'u dk mÙkj nsaA
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15. The percentage increase in the sale of mo-

torcycles in 2020 as compared to that in

2019 is below 15% for the dealer:

Mhyj ------ ds fy, 2020 eas eksVjlkbfdyksa dh fcØh esa

gqbZ izfr'kr òf¼ 2019 dh rqyuk esa 15» ls de gSA

Selection Post - Phase IX (08 Feb 2022)

(a) A

(b) D

(c) E

(d) B

16. The number of motorcycles sold by dealer

D in 2020 is what percentage more than

the number of motorcycles sold by dealer

C in 2019 ?

2020  esa Mhyj D }kjk csph xbZ eksVjlkbfdyksa dh

la[;k 2019 esa Mhyj C }kjk csph xbZ eksVjlkbfdyksa

dh la[;k ls fdrus izfr'kr vf/d gS\

Selection Post - Phase IX (09 Feb 2022)

(a) 48% (b) 44%

(c) 30.5% (d) 33.3%

17. The average number of motorcycles sold by

dealers B and D in 2019 is what percent-

age less than the average number of mo-

torcycles sold by dealers A, C and E in

2020 (correct to one decimal place)?

2019 esa Mhyj B vkSj D }kjk csph xbZ eksVjlkbfdyksa

dh vkSlr la[;k] 2020 esa Mhyj A, C vkSj E }kjk

csph xbZ eksVjlkbfdyksa dh vkSlr la[;k ls fdrus izfr'kr

de gS (n'keyo ds ,d LFkku rd lgh)\

Selection Post - Phase IX (10 Feb 2022)

(a) 11.10% (b) 14.8%

(c) 14.3% (d) 18.1%

Direction (18-20): Study the given graph and an-

swer the question that follows.

fuEukafdr xzkiQ dk vè;;u djsa vkSj mlds ckn fn, x,
iz'u dk mÙkj nsaA

18. The average exports of country ABC in

2015,2017 and 2018 are what percentage

of the total imports from 2015 to 2018

(correct to one decimal place)?

2015] 2017 vkSj 2018 esa ns'k ABC dk vkSlr fu;kZr]
2015 ls 2018 rd ds dqy vk;kr dk fdruk izfr'kr
gS (n'keyo ds ,d LFkku rd lgh)\

Selection Post - Phase IX (08 Feb 2022)

(a) 20.6%

(b) 22.8%

(c) 22.1%

(d) 24.4%

19. In 2020, if the imports increased from

2019 by the same percentage as in 2019

over its previous year, then what were the

amount of imports (in Rs crores) in 2020?

2020 esa] ;fn 2019 dh rqyuk es vk;kr esa of¼ 2019
esa fiNys o"kZ dh rqyuk ds leku izfr'kr o`f¼ gqbZ] rks
2020 esa vk;kr dh jkf'k (:i;s djksM+ esa) D;k Fkh\

Selection Post - Phase IX (09 Feb 2022)

(a) 450 (b) 500

(c) 420 (d) 480

20. The exports of country ABC in 2019 are

what percentage more than its imports in

2017 ?

2019 esa ns'k ABC dk fu;kZr] 2017 esa mlds vk;kr
ls fdrus izfr'kr vf/d gS\

Selection Post - Phase IX (10 Feb 2022)

(a) 40% (b) 28%

(c) 12% (d) 30%
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Direction (21-23): Study the given graph and

answer the question that follows.

fuEukafdr ikbZ pkVksaZ dk vè;;u djs vkSj mlds ckn
fn, x, iz'u dk mÙkj nsaA

  

21. The total production of fertilisers by

country Y in 2017 and 2019 and by

country X in 2016 is what percentage of

the total production of fertilisers by

country Z in 2016, 2018 and 2020?

2017 vkSj 2019 esa Y }kjk moZjdksa dk dqy mRiknu

vkSj 2016 eas ns'k X moZjdksa dk dqy mRiknu 2016]

2018 vkSj 2020 esa ns'k Z }kjk moZjdksa ds dqy mRiknu

dk fdruk izfr'kr gS\

SSC CGL MAINS 2020

(a) 77%

(b) 70%

(c) 69%

(d) 60%

22. What is the ratio of total production of

fertilisers by country X in 2017 and

country Y in 2020 to the production of

fertilisers by country Z in 2019?

2017 esa ns'k X vkSj 2020 esa ns'k Y }kjk moZjdksa dk

dqy mRiknu 2019 esa ns'k Z }kjk moZjdksa ds mRiknu
dk vuqikr Kkr djsaA

SSC CGL MAINS 2020

(a) 19 : 12

(b) 3 : 2

(c) 27 : 20

(d) 4 : 3

23. The average production of fertilisers by

country Z in 2017, 2018 and 2020 is what

percentage more than the average

production of fertilisers by country X in

2018 and 2020?

2017] 2018 vkSj 2020 esa ns'k Z }kjk moZjdksa dk
vkSlr mRiknu] 2018 vkSj 2020 esa ns'k X }kjk moZjdksa
ds vkSlr mRikni ls fdruk izfr'kr vf/d gS\

SSC CGL MAINS 2020

(a) 48%

(b) 32.4%

(c) 49.6%

(d) 45%

Direction (24-26):Study the given graph and

answer the question that follows.

fuEukafdr xzkiQ dk vè;;u djsa vkSj mlds ckn fn,
x, iz'u dk mÙkj nsaA

24. In 2020, the production of cement by

company C increased by the same

percentage as in 2019, over its previous

year. The production (in million tonnes) of

cement by company C in 2020 (correct to

one decimal place) was:

daiuh C }kjk 2020 esa lhesaV ds mRiknu esa mruh gh
izfr'kr o`f¼ dh xbZ ftruh fiNys o"kZ dh rqyuk esa
2019 esa dh xbZ FkhA 2020 esa daiuh C }kjk fd;k x;k
lhesaV dk mRiknu (fefy;u Vu esa] n'keyo ds ,d
LFkku rd lgh) fdruk Fkk\

SSC CGL MAINS 2020

(a) 454.6

(b) 455.8

(c) 457.1

(d) 452.4
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25. The ratio of the production of cement by

company A is 2016 and company C in 2018

to the total production of cement by

company B in 2017 and 2019 is:

daiuh A }kjk 2016 esa vkSj daiuh C }kjk 2018 esa
fd, x, lhesaV esa dqy mRiknu dk] daiuh B }kjk
2017 vkSj 2019 esa fd, x, lhesaV ds dqy mRiknu
ls vuqikr fdruk gS\

SSC CGL MAINS 2020

(a) 9 : 8

(b) 7 : 6

(c) 8 : 7

(d) 10 : 9

1.(b) 2.(d) 3.(b) 4.(d) 5.(c) 6.(c) 7.(d) 8.(b) 9.(c) 10.(a)

11.(d) 12.(b) 13.(c) 14.(d) 15.(c) 16.(b) 17.(c) 18.(c) 19.(b) 20.(d)

21.(b) 22.(b) 23.(a) 24.(c) 25.(a) 26.(d)

Answer Key

26. The average production of cement by

company B in 2015, 2016 and 2018 is what

percentage less than the average

production of cement by company C in

2015 and 2017.

daiuh B }kjk 2015, 2016 vkSj 2018 fd;k x;k
lhesaV dk vkSlr mRiknu] daiuh C }kjk 2015 vkSj
2017 esa fd, x, lhesaV ds vkSlr mRiknu ls fdrus
çfr'kr de gS\

SSC CGL MAINS 2020

(a)
3

7 %
7

(b)
1

7 %
7

(c)
1

5 %
3

(d)
2

6 %
3
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